
 <-- 402 cm --> <-- 402 cm-->

Important. Follow the assembly instructions carefully.

optiva pergola
Assembly instructions

Article numbers: 2302 

ALUMINIUM PERGOLA
(Harmonica Shade Sail not included)



Important. Follow the assembly instructions carefully.

                                

402x402 cm

A

B

C

D

E

F

G

H

110x110x2

110x110x2

110x110x3

110x110x2

L.100x100x10

140x90x5

U.50x103x50x3

200x200x3

2 x 240 cm

2 x 240 cm

2 x 380 cm

2 x 380 cm

8x10,3 cm

8x

4x10,3 cm

4x

A

D

C

CE

G

H B

G

E

E

F

F

H

E

E

D

F

F

EE

G

G

E

F

H

F

H

FF

Parts list

                                

402x402 cm

A

B

C

D

E

F

G

H

110x110x2

110x110x2

110x110x3

110x110x2

L.100x100x10

140x90x5

U.50x103x50x3

200x200x3

2 x 240 cm

2 x 240 cm

2 x 380 cm

2 x 380 cm

8x10,3 cm

8x

4x10,3 cm

4x

A

D

C

CE

G

H B

G

E

E

F

F

H

E

E

D

F

F

EE

G

G

E

F

H

F

H

FF



Important. Follow the assembly instructions carefully.

A

B

B

A

C

C

D

D

D

D

C

C

E F

E

F

FF

E E

E E

E

F

F

E

G

G

G

G

H

H

H

H

380 cm

380 cm

380 cm

380 cm

B

C= 110x110x3 mm
D= 110x110x2 mm

24
0 

cm

24
0 

cm

24
0 

cm

24
0 

cm



Important. Follow the assembly instructions carefully.

110

55

55

110 75

110

55

55

11075

110

50
30

30

70110

70

30
50

30

2x Ø 8,5mm

80x8,5mm

80x8,5mm

80x8,5mm

80x8,5mm

2x Ø 8,5mm

2x Ø 8,5mm

2x Ø 8,5mm

2x

2x

2x

2x

110 55

55110

75

11055

55

75

110

110

50
30

30

70 110

70

30
50

30

A

B

C

D

C= 110x110x3 mm
D= 110x110x2 mm

Step 1



Important. Follow the assembly instructions carefully.

2x B

A

D

E

E

E

E

E

E

C= 110x110x3 mm
D= 110x110x2 mm

M8x30

E

F

E
E

E EE

F
M8x30

E

F

2x B

A

D

E

E

E

E

E

E

C= 110x110x3 mm
D= 110x110x2 mm

M8x30

E

F

E
E

E EE

F
M8x30

E

F

Step 2

Step 3



Important. Follow the assembly instructions carefully.

10,2

10,2

380,8 cm

10,2

10,2

380,8 cm 380,8 cm

10,2

10,2

380,8 cm

10,2

10,2

90º 90º

90º

90º

567,5 cm

56
7,

5 
cm

G

G

G

G

G

E

E

G

D

B

A

C= 110x110x3 mm
D= 110x110x2 mm

Step 4



Important. Follow the assembly instructions carefully.

G

G

4,1X194,1X19Wooden pole 105x105

Concrete

Step 5

STANDARD FOUNDATION

ALTERNATIVE FOUNDATION



Important. Follow the assembly instructions carefully.

E

E E

E

B

AA

B
D

D

C= 110x110x3 mm
D= 110x110x2 mm

E
D

B

Step 6



Important. Follow the assembly instructions carefully.

E

E E

E

D

D

C

C

B

A
A

B

C= 110x110x3 mm
D= 110x110x2 mm

E
D

C

B

Step 7



Important. Follow the assembly instructions carefully.

CD

B

M8x30

H

H

H

D

D

C

B

A
A

B

C

C= 110x110x3 mm
D= 110x110x2 mm

H

H

Step 8



319 cm

H

H

H

H

D

D

C

B

A
A

B

C

C= 110x110x3 mm
D= 110x110x2 mm

110

30

110

50

30

25

2x Ø 5mm

2x Ø 5mm

319  -  419 cm

Step 9

Visit our website www.platinum.nl for more information and safety instructions.


